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Toán Học vn.CommonCoreSheets.com 2 1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Câu  trả  lờ i
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Sử dụng quy tắc nhân để xác định phần dư còn thiếu cho mỗi bài toán.

1) 1.199:2 = 599 dư     1      2) 93:10 = 9 dư     3      

3) 96:5 = 19 dư     1      4) 125:5 = 25 dư     0      

5) 568:5 = 113 dư     3      6) 78:10 = 7 dư     8      

7) 2.750:2 = 1.375 dư     0      8) 453:5 = 90 dư     3      

9) 113:5 = 22 dư     3      10) 190:2 = 95 dư     0      

11) 7.447:10 = 744 dư     7      12) 917:10 = 91 dư     7      

13) 28:5 = 5 dư     3      14) 58:2 = 29 dư     0      

15) 986:10 = 98 dư     6      16) 240:10 = 24 dư     0      

17) 2.774:10 = 277 dư     4      18) 358:2 = 179 dư     0      

19) 5.673:10 = 567 dư     3      20) 132:5 = 26 dư     2      
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